
Errata

The recommended expression for g is acceleration of free fall.

Paper I

The fourth column in table 2 of Paper I should be

dij / % = [-0.05 -0.04 -0.09 -0.02 -0.02 -0.05 0.06 0.04 0.03 -0.03 -0.07 0.00 ]T . In

table 3, 626 should be 625.

The fourth column in table 3 of Paper I should be

dij / % = [0.03 0.05 0.15 0.12 0.06 0.02 -0.02 -0.01 -0.03 -0.03 -0.09 -0.15 ]T .

Paper IV

The column with units of sensitivity coefficients in table 2 in Paper IV should be

[ m kg−1 m4 (kg s)−1 (m s)−1 m s−1 m s−1 ]T .




